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8:04 | Drawing Graphs (

Part 2)

Outcome DS 4.1

for a chemist each week.

EE This table shows the opening and closing times

o1l a sector chart:

‘1° represents ____ person/people.’

Divide up and colour in the circle below to
show this information.

B A survéy of 400 adults about smoking gives
this information:

‘Day of week | Opens/closes | Houis open
Monday Oam~6pm. |9

Tuesday 9 a.m—6 p.m.

Wednesday | 9am.—6p.m.

Thursday 0 a.m—6 p.m.

Friday 9 am.—9 p.m.

Saturday 10am-5 p.m.

Sunday 10 am.-3 p.m.

Total

a Complete the table.
b The information can be shown in a sector graph.

i The centre angle for Monday would
be 54°. Explain why by writing down
a calculation.

il Use a protractor to draw the sector graph
for this information.

B¥ Nine hundred people travelling overseas were
asked how they preferred to communicate with
friends back home.

"Here are the results:

Postcards/letters 414
Phone/fax 270
E-mail 216
Total 900

Number | Angle in
sector graph
Never smoked 191 172°
Used to smoke 136
Smoke now 73
Total 400 360°

a The angle in a sector graph for the group
who have never smoked is exactly 171.9°.
Comptete the boxes in this calculation to
show how this is worked out:

] X 360° = 171.9°
L] |

b Complete the missing cells in the table.

¢ Draw the sector graph to display these results.

CHAPTER 8§ GRAPHSANDTABLES




B4 This table shows the number of motoreyclists who
were killed on NSW roads over a 12-year period.

Year Number | Year Number

of riders of riders
1987 119 1994 50
1688 111 1995 57
1989 98 | 1996 52
1990 84 - 1997 43
1991 54 1998 4G
1992 55 1999 | 51
1993 41 2000 - 60

Source: WWWIta.nsw.gov.au

a Display this information on a line graph.

b Explain what the graph shows about the long-
term trend for the motor cyclist road toll in NSW.

B The following table shows measurements of the
depths of water below the whar{ at Coffs Harbour
one Tuesday. As the tide comes in and out, the
depth changes. The depths have been measured
to the niearest metre.

Depth

Time Depth | Time

(m) (m)
Tue 6 am. 4 4 p.m. 5
7am. 3 5 p.m. 4
8 a.m. 3 6 p.m. 3
9am. 4 7 p.m. 3
10 am. 5 8 p.m. 4
11 am. 7 9 p.m. 5
midday 8 |10 p.m. 7
1 pm. 8 11l p.m. 8
2pam. 7 midnight 8
3 pm. 6 Wed 1 a.m. 7

a Display this information on a line graph.

b What would you expect the depth to be at

2 a.m. on Wednesday?

¢ Suggest what the depth might have been at

4 a.m. on Tuesday.

d Which of these is the best estimnate of the time

between high tide and low tide?

A 3 hours
C 7 hours

B 5% hours

B 11 hours

B3 A plumber charges as follows—a call-out fee of
$20 and then a charge of $15 per quarter-hour
or part thereof. Draw a step graph to show
this information.
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8:05 I Travel Graphs

Outcome DS 4.1

El Michael is swimming at a lake. These graphs
(B (3 and R) show his distance from the shore as
time goes by. '

p Q R

h A

@ @ fo]
@ = @ = @ =
(@]
22 e2 28
gw oa 89
@ E uE @ E
lals] og g
L= t— e

Time Time Time

a Which graph shows he is moving closer to the
shore as time goes by?

b Which graph shows he is moving away from
the shore as time goes by?

¢ Which graph shows he is staying the same
distance from the shore as time goesby? ____

Ei Draw a distance time graph for the following.
Graph the time on the horizontal axis and the
distance from home on the vertical axis.

lona walks from home to the dairy. Here she
buys some milk and heads back towards home.
Halfway back she realises she forgot to buy
biscuits, so she returns to the dairy, buys the
biscuits and then walks home.

BB This distance—time graph shows the journey of
a cyclist from a farm to the shops at Tamworth
and back.

A

-— 'y [§%]
[} [ (=
T T

Distance from farm (km)
431
T

{ 1 1 { 1 1 »

15 30 45 80 75 90
Time (minutes}




How far is the farm from Tamworth?

b For how long was the cyclist away from home?

¢ For how long was the cyclist at the shops?

d These are the calculations for the speed on the

way back:
g _ distance _ 20km _ 20 km
peed = — = — =
time 30min ! four
2
= 40 km/h

Write down some working to explain where
the number 30 comes from in this calculation.

e The first part of the journey was 5 km and
took 15 minutes, Calculate the speed for this
part in km/h.

f Explain how the graph shows that the cyclist
was travelling faster on the way back.

EY The Thompson twins (Dawn and Esther) both
leave home at 8.15 a.m. to walk to school. School
starts at 8.40 a.m. One of the twins stops ata
friend’ place on the way.

£
g
@
Q
Ly
8
B
a g
1 | 1 Ly
8.15 8.30 8.45 9.00
Time of day

a  Which twin arrives at school fizst?

b Which twin stops at a friend’s place, and for

how long?

¢ Which twin walks faster? Explain how the
graph shows this.

NEW SIGNPOST MATHEMATICS 8 HOMEWORK BOOK

B A small airline operates two planes, named
Kookaburra and Pelican, between Hobart,
Melbourne, Canberra and Sydney.

----- Kookaburra
—— Pelican
Sydney .
i AN F2 LY i
Canberra 3 TR 4
1) N W N
Melbourne [-| N £ 7 o/
7 i 7 % -
Hobart N 3 3
DOOOOOOOOOODOO
OO0 O0O00000 Q0000 Q0
N~ O OO~ N®O<T W O~0Dn 0
OO0 r —~rr v 1+ —7v 17
Time of day

a There is one flight a day from Sydney to
" Canberra. When does it leave Sydney?

b How long does it take to fly from Sydney to -
Melbourne?

¢ How many direct flights are there from Hobart

to Canberra each day?

d Which route is faster when flying from Sydney
to Hobart—via Melbourne or via Canberra?

e Where are the planes kept overnight?

f Are the planes ever timetabled to be at the”
same airport at the same time? Explain.

BB Michael walked to school (a distance of 2 km),
leaving home at 8.30 a.m. and arriving at school
at 9 a.m. At 10 a.m. he left scheol to go to a dentists
appointment. The dentist is halfway between
school and home. The appointment was for an
hour. He arrived back at school at 11.30 a.m. At
12.15 p.m. he felt sick, and was collected by one
of his parents at 12.30 p.m. The drive home took
5 minutes,

On this diagram, draw a distance~time graph to
show Michaels distance from home between
8 am.and 1 p.m.

Michael's miserable morning

[ae]

Distance from
home (km}

{ 1 f i | I
gam 9am 10am 1lam 12noon 1pm

Time of day
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places along the east coast of Austrilia. Use the
chart and map to work out these costs:

8:06 f Reading Tables “

Qutcome DS 4.1

a acarton weighing 4.5 kg across town

ﬂ Swimming pool fees (within Sydney)
PRICES (inclusive of G51) b a'carton weighing 6.8 kg to Cairns
SWIM (includss Sauna, Steam, Spal ¢ a carton weighing 12.1 kg to Townsville
é\ADéJ[IfAL $4.00 OR  Monthly payment o;:iion X j‘;
3 month. ﬁgg_‘gg m’;’&ﬁyﬁi,omqﬁc $50.00 d a carton containing six 700-g books to :
T $30000  Eotfaccomm minom Ballaal |

12 months) . . $27.00 C -
e two cartons—one weighing 4.6 ke and the
CHILD (under 15 years} & ghing 4.6 kg and t

SENIOR [over 60 years} STUDENT {ID required)} other Wﬁighiﬂg 9.3 kg'““to Wagga Wagga ‘
CASUAL $2.00 CASUAL - $3.00 : f
1 month $18.00 . 1 monih $27.00 . RS
3 months $50.00 3 months $65.00 : !
& months $95.00 & months $120.00 D —~ i
12 months $180.00 12 months $220.00 &4 : .
2 g & ~

a How much does it cost an adult and a child to g, 2 ~ v |

go for a single swim? = » = N &

' i : . & = o4 st g

b How many times would a person need to go to g 3! n g = N

he swinimi e < z - o4 L

the swimming pool each month to save money 1

by paying monthiy rather than per swim? 0500 g $2.30 | $4.00 $4.00 | $4.00 [
S00g-1kg | $2.30 | $5.80 | $750 | $8.65 3

¢ Wei-Lin twrs 15 in six months’ time. She is a 12kg . [$3.50 [$610 | $8.00 | $10.30 |
student at high school. Explain whether she - : H
should pay for six months’ child membership k8 $3.50 | $6:40 $850 | $11.95 g

and then six months’ student membership, or 3-4kg $3.50 | $6.70 $9.00 | $13.60 x

pay for twelve months’ student membership. 45 kg $350 | $7.00 $0.50 | $15.25 ‘ 1

5-6 kg $3.50 | $7.30 | $10.00 | $16.90

7-8kg $3.50 | $7.90 | $11.00 | $20.20

8-0 kg $350 § $8.20 | $11.50 | $21.85
d Troy is an adult. He can only afford to pay
for membership on a monthly basis. He plans o-10ke 3350 [ 3850 | $12.00 | $23.50
to use the pool for 14 months until he goes
overseas. How much money would he save
altogether by paying by automatic bank payments
compared with paying cash each month?

The following chart gives prices for sending
packets by regular post from Sydney to various A

i
|
1
!
[
:
i
i
!
[
|
|
i
|
I
!
|
|
1
i
|
1
|
[
t
|
:
I
!
|
|
I
i
1
|
I
|
|
I
|
|
!
|
t
|
|
{
I
|
!
i
[
|
[
!
f
I
!
I
!
i
:
|
: T 6-7 kg $3.50 $7.60 $10.50 | $18.55
|
[
|
1
!
!
1
|
t
|
!
|
I
|
|
!
|
!
|
'
|
t
|
1
!
!
1
1
f

CHAPTER 8 GRAPHSANDTABLES

|
i
|




8:07 ] Misuse of Graphs

QOuteome DS 49

BB Political advertising has often been misleading—
even 50 years agol

THIS TP HEAY Y GOVERNMENT

SOVERNHENT TOBAY 1§ TOP-KEAVY
THE BURDEN FALLS Ulya(j
-—

Explain how this National Party campaign
advertisement in 1949 about the costs of

government is misleading.

E] Dramatic drop in new car registrations

A

80 000 n
- 70000
60 000 \
50 000

1987 89 91 23

In 1991 there was a steep decrease in new
car registrations. What feature of the graph

exaggerates this fall?

. NEW SIGNPOST MATHEMATICS 3 HOMEWCORK BOOK

B Visitors to garden centre

Visitors to garden centre

winter | spring
2342 |.7814
autumn |summer,
4128 | 5090

Explain how this sector graph is misleading.

Bl Describe what is misleading about this graph.
It may have more than one misleading feature.

MNo. of flights each week to

A Asia from Sydnay
31
221
13
8 -
il |
0&0‘{‘@6@@?0@\%\@{\6«0@0
Fa et
\)\0(\ \Ao }

B} This sector graph shows the marital status of
100 people chosen at random.

Most péop]e are now married

divorced

now
mairied

never
married

Explain why the title is misleading.

I3 FExplain what is misleading or wrong about this
advertisement.

Brightspark

battery charger

Lifetime guarantes
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EX Michael is swimming at a lake. These graphs
(B Q and R) show his distance from the shore as

8:05 ,Travel Graphs

Cutcome DS 4.1 :
time goes by.
P R
A
(DT @ o
3 85 85
t% @y E 7] r% [77)
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og ag ag
Time Time Time

‘a  Which graph shows he is moving closer to the

shore as time goes by? _(X_ ¢

b Which graph shows he is moving ?vay from
the shore as time goes by? R '

- ¢ Which graph shows he is staying the same ;
distance from the shore as time goes by? B A

Bl Draw a distaice time graph for the following,
Graph the time on the horizontal axis and the
distance from home on the vertical axis.

lona walks from home to the dairy. Here she
buys some milk and heads back towards horme.
Halfway back she realises she forgot to buy
biscuits, so she returns to the dairy, buys the

-~ Dbiscuits and then walks home,
A

™.
™

e

wah 206 200 LDo

o &

1

q

L T ‘:"\.‘

T A

b e € TEhges _

E¥ This distance-tim# g‘fgph(g?fg;)s the journey of
a cyclist from a farm to the shops at Tamworth
and back. )

{

2vetance

() > -

™
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1

sy
(=]
T

Distance from farm (km)
4]
I

1 { |- 3 P - ]

15 30 45 60 - 75 20
’ Time {minutes)
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a How far is the farm from Tamw, /orth?

20Rm  »

b For how long was the cyclist away from hgme?

Qp rox. 5% mins
¢ For how long was the cyclist at the shops?
10 mins
d These are the calculations for the speed on the -
way back:
Speed = dis'tance _ 20 kr‘n _ 20km
. time 30min 1 por
2
=40 km/h

Write down some working to explain where
the number 30 comes from in this c?lculation.

RE.5D = BOmIN 4

e The first part of the journey was 5 km and
took 15 minutes. Calculate the speed for thls

part in kam/h, s B
Speect = 75,5, O ;3,;{ Jhe

e
7 o v’:"t/ (o

f Explain how the graph shows that the cyclist
was travelling faster on the way back.

The oraeh show & av "ﬁn& o

éﬁ?;

épﬁ.\g%‘i‘ wWOS 'i'rm}eﬂw\ci WA‘?’FW O f
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W
‘H'n way boclk

hecpu s
e :

F
ﬂ The Thompson twi @%Dawn and Fsther) both
leave home at 8.15 a.m. to walk to school. School
starts at 8.40 a.m. One of the twins stops at a
friend’s place on the way.
i :

Distance from
home

Y

P
8.45

1
8.30

1
8.15 9.00
Time of day
a Which twin arrives at {1001 first?

OO! 7

‘b Which twin stops at a friends place, and for - \/
how long? F s thes | 1""‘"0‘(‘ o ppRrew,

N
o
3

¢ 'Which twin walks faster? Explain how the
graph shows this, fether tvof I

")Q:i‘:? PAT b ECara T & \{51‘;\;‘,,
("fff‘f'ifé’é’[ at schoo / OR J'i»}
g s arf@r ;Ja';t (A

&’ij’ﬁg‘\

| NEW SIGNPOST MATHEMATICS 8 HOHEWORK BOOK ‘/""*ﬁ‘ Dlag b
Hher
Grodeend

She wfoppsod at
Frfcmc;f Ahouse,

Distanc‘e:?from

E A small aitline operates two planes, named
Kockaburra and Pelican, between Hobart,
Melbourne, Canberra and Sydney.

----- Kookaburra
—— Pelican
Sydney T+
FAREEY K N
Canberra y v -
X LY N7 4
Melbourne : A x
Y > A N\ )

Hobart ! 3 3 B
OO0 0000000, 00O Q
ESQOrNaInerRes e
[= 1 =ik o —rT T o

Tirne of day

a There is one flight a day from Sydney to
Canberra. When does it leave Syd g

T+ \caves ab 25
b How long does it take to fly f;ein Sydney to
Melbourne? -1 Iy

¢ How many direct ilights are there {x )am Hobart
to Canberra each day? 2

d Whichroute is faster when flying from Sydney
to Hobart—via Melbourne or via Canbefra?

Yo Ccm‘oei i a /

e Where are the planes kept ovemight?
H [3] lﬁfhg" ‘1_§=

Are the planes ever timetabled to be at the
same airport at the same time? Explain,

Yes . Hhe K oot ety & i’
Yhe elleanm _a¥ ‘Sﬁ%e '

e, o e e e Qirpoyd
EX Michael walked to school (a distance of 2 km),

leaving home at 8,30 a.m. and arriving ;at school
at 9a.m. At 10 a.m. he left school to go to a dentists
appointment. The dentist is halfway between
school and home. The appointment was for an
hour. He arrived back at school at 11.30 a.m. At
12,15 p.m. he felt sick, and was collected by one
of his parents at 12,30 p.m. The drive home took
5 minutes.

On this diagram, draw a distance-time graph to
show Michael’s distance from horhe between

8 am. and 1 p.m.
s
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Michaet's miserable morning
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8:06 | Reading Tables

Qutcome D5 4.4

A Swimming pool fees

e T IV, Pt Dyl e

T

IRl e
il e

R
A e T
e

-places along the east coast of Australia. Use the
chart and map to work out these costs:

a acarton weighing 4.5 kg across to

WI

50 o

(within Sydney) _p2

Cairns M

The following chart gives prices for sending

packets by regular post from Sydney to various

PRICES (inclusive of GST) b a carton weighing 6.8 kg to
SWIM (includes Sauna, Steam, Spa} ¢ acarton weighing 12.1 ke to Towpsville
ADULT : §> C 2L .90 yS :
CASUAL $4.00 OR M?r'll'hiy payment option . N
3 'nﬂngs ggé:% Joinies f"%,ombﬁc 55_0‘00 d acarton containing si;:i‘TOg-% bc‘);ﬁés to
6 90.00 - .
12m:12tm715 T $300.00 %ﬁ:ﬁ%{:ﬁzﬁ:;um @ Ballarat : '
months, B . .
CHID. (under 15 years) & _ e Lwo cartons—one weighing 4.? kg and the
SENIOR [over 60 years) STUDENT [iD required] _ other weighing 9.3 kg—to \ﬁagga Wagga
CASUAL $2.00 CASUAL $3.00 $1s.50 -
1 monih $18.00 1 month $27.00 '
3 months 350,00 3 months $65.00
4 months 395.00 & months - $120.00 b —
12 monhs  $180.00 12 months . $22000 | & ~
N o ] ‘é g g F‘q\
a How much does it cost an adult 2 a child to = z N B
go for a single swim? vd__ Kk o % é
b How many times would a person need to go to % % é § %
the swimming pool each month to save money H A <
by paying monthly ra\t}y@r than per swim? 0-500g | $2.30 | $4.00 |. $4.00 | $4.00
16 Hmes 500 g-1kg | $2.30 | $5.80 | $7.50 | $8.65
¢ Wei-Lin tumns 15 in six months’ time. Sheisa - 1-2 kg $3.50 | $6.10 $8.00-] $10.30
student at high school. Explain whether she
should pay for six months’ child membership 2_—3 kg $3.50 | $6.40 $8.50 | $11.95.
and then six months’ student membership, or 3-4 kg $3.50 | $6.70 $9.00 | $13.60 |
pay for twelve months’ student mermnbership. 4.5k
-5 kg $3.50 | $7.00 $9.50 | $15.25
A5+ 1209215 (6 chld +
. Q 432‘_ : JmC "“"“il“’ e ld+ S (8350 | 5730 | $10.00 | $1690
Yy svudent
$22"‘”‘°? , = o 5 67kg | $3.50 | $7.60 | $10.50 | $18.55
O=\2 - with s Studen - — -
32 mon / [78kg_ [$350 | 5790 | $11.00 | §2020
She ehoeld pnau fbr b _m anths !
Oy 1 fhen G mBnths ghaewr e vt | 89kg $3.50 | $8.20 | $11.50 | $21.85
d Troyi It. F 3
toy is an adu‘t e can only a orfi topay S 9-10 kg 5350 | $8.50 | $12.00 | $23.50
for membership on a montbly basis. He plans y o -
to use the pool for 14 months until he gaes e e
overseas. How much money would he save
altogether by paying by automatic bank payments
co‘mpargd with imh each ur}}?hr}'tll; fee, sy 350 a7an2 : mmsw:rﬂ,
5é ‘“6—7 iq . 2 it it en
ot L = ‘é 75‘ ! cLDZoNE 2
. : TUIY 2 203 W
L4226 (s howormiuch he Sovig? foon~FIB om0
T . YT S
St £D LA i Q\\ SG‘V@ . = $I3{D ’ . l‘\y:ggg.!\:‘a;ga };:::u.a
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B! Political advertising has often been misleading—
even 50 years agol ‘

THis TBP HEAVY Y GOVERNMENT

SOVERNMENT TODAY 1§ TOP-REAVY
THE BURDER FALLS ONWalt
Yo

& 2 . 1y e
i’ 93, g i gt
25:1\ \IL:; Prititey s“u“’“‘ARD AND QPWMD

ST XPEHD“URE - O

AHHUAL

Explain how this National Party campaign
advertisement in 1949 about the costs of

; government is misleading. o

] L]
[ f,'”&‘%:i o

Bl Dramatic drop in new car registrations

80 000 o
70 000
60 000 \
50 000

1987 82 91 93

In 1991 there was 4 steep decrease in new
car registrations. What feature of the graph
exaggerates this fall? -

Sharyrp O/f’ojf?r + /£i 00020
dorreasC. v
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El Visitors to garden centre

Visitors to garden cenire

1

1
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1
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winter | spring :
2342 | 7814 !
H

R !
1

|

1

|

1
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1

i

autumn |summer,
4128 | 5690

Explain how this sector graph is misleading.
The grap h_ic not Shrviced
[h1o Hhe correct i/‘é conoy e 1S,

I i s T

Bl Describe what is misleading about this graph.
It may have more than one misleading feature.

No. of flights each week to

¥ Astia from Sydney :
31+
221 :
13- :
8 -
b ! .
0\f~ ?} O‘Q (\b O . I
%‘*"0\:{\‘\\'«?“&?\&\“\& o4
Q\OQO : ¥°

Tee scale ol dhe .
verheal awlis 13 ’;&Aeue,m

5 | “This sector graph shows the marital status of ‘
100 people chosen at random.

Most people are now married

now
marrfed

widowed

never
married-

Explain why the title is misleading, I+is

raisleaolin o hecuse 17 O’@%ﬂff};f

n?”%ﬁ -ﬁhoug»‘s" cletarls 82 bt/ Yo

Explain what 1 misleading or wrong about thi¢ 7 e | _
advertisement. ’ Stviey

Lifetrme Ly
9 'Mafa,n%fgf !
e A mi'sles _;';%5

Statc et

Brightspark
battery charger

Lifetime guarantze




